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Lesson 5 Surface Area of Pyramids 785



4. Pyramid-shaped gift boxes have square bases that
measure 5 inches on each side. The slant height is
6.5 inches. How much cardboard is used to make

Rate Yourself!

| undevstanmd surface
avea of pyramids.



Guided|Practice

Find the surface area of each pyramid. (omples1-2)
7. 64in? 2. 2352m?
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4, Pyramid-shaped gift boxes have square bases that 5

measure 5 inches on each side. The slant height is
6.5 inches. How much cardboard is used to make
each box? (Fxample3)

90 in?

3, 55.75cm?

- 6cm

5¢m “ cm

43cm

@ Building on the Essential Question How do you
use the area of a triangle to find the surface area of a
triangular pyramid?

Sample answer: The base and all three lateral faces of

a triangular pyramid are triangles. Use the formula for

the area of a triangle to find the area of each face.
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Find the surface area of each pyramid. ((amples1-2)
7. 24m? 2. 504 yd? 4#£) 126.35 cm?
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X Atea bag is shaped like a square pyramid with 10. C@% Identify Structure Refer to the figures listed in the table. Determine

the base measuring 4 centimeters on each side. the number of faces the figure has of each two-dimensional shape. Explain.
The slant height is 4.5 centimeters. How much

mesh is used to create the tea bag? (Fample 3)

Flgure { Rectangular Faces J‘l‘ﬂm\gulav Face;?

2
— Rectangular Pvi;:_} 6 0 z
8. An earring design is shaped like a triangular LT"‘MS“‘N Prisw 3 2 j
pyramid. All the faces are equilateral triangles L.Sq,m,,e Pyvowid 1 4 i
with side lengths of 14 millimeters. The slant . .
height is 12.1 millimeters. What is the surface l-mmsmm Y a | g J
area of the earring? (bample 3)
338.8 mm?2 Sample answer: Rectangular prisms have no triangular faces and triangular

pyramids have no rectangular faces. Triangular prisms and square pyramids
9. An acting award is a square pyramid with a base have a combination of both. The figures are named by their bases.
that measures 6 inches on each side. The slant
height is 8 inches. What is the surface area of
the award? (Eample3)
132in?
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EQ}, Find the Error Pilaris finding the surface area of the pyramid shown.
Find her mistake and correctit.

110 ft%; Sample answer:

A pyramid has only one %
P) ) / B 1.
square base. To find the A \ .
surface area, add ———{———'\IJ\\
sl ™\
25 + (4 + 21.25). L
5ft
G853 Persevere with Problems The lateral surface area LA. of a A\
pyramid is the area of its lateral faces. Use the square pyramid at F :’.-' lﬁ
the right to complete each step to find the lateral surface area of &L
any pyramid. ?k,'.’ \
LA = . st + le + le + le Lateral surface area 4/:' 'ﬁ: § _-5_
2 F 2 2 -
= %( st+s+s+s )€ Distributive Property
1
= EPE Perimeter of base:P=s+s+s5s+5

f-@} Justify Conclusions Suppose you could climb to the top of the
Pyramid Arena in Memphis, Tennessee. Which path would be shorter, climbing
a lateral edge or the slant height? Justify your response. |t would be shorter to

climb up the slant height. The bottom of the slant height is closer to the

center of the base of the pyramid than the bottom of the lateral edge.
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